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3.(Xg&EE) s S5 A A 4,720 0 4,720
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A3 99 Fel3lu] ¢ 300,000 *33]= 900,000
4. (A998 g FA¢ 4,000 0 4,000
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oAt A5 sk 1 100,000 #63]= 600,000
_fzmizz—%%jalz £ 500,0009+33] 1,500,000
9.(X9g5) XN 2AF 7,082 0 7,082
1.9 7,082 0 7,082| AZAF : 35,4109 %1009 #23]= 7,082,000
2.5 utds 1,580 1,480 100
1.9 700 600 100
1. &g 100 0 100| SR E A1 © 100,000 %13]= 100,000
2. 350 E 600 0 600 | gHE-sHF =0 E ¢ 100,000 23] = 200,000
o] 5EH & 1 100,000 %43]= 400,000
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1. 02 Y B =] H) 1,400 0 1,400 | aLAFEolE] % 1 700,000 #23]= 1,400,000
2. W5 u 300 0 300|217 £ ¢ 300,0009%13]= 300,000
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TR ETET] ¢ 250,000 #2285 = 500,000

FOLERE7] 1 300,000 23] = 600,000

thabu] o 100,0009#33]= 300,000
7.3 AR 3,000 3,000 0
1. en)n] 3,000 3,000 0
1. oju]H] 3,000 3,000 0
1.en)n] 3,000 3,000 0

1. ojlu]H] 3,000 0 3,000 ol¥]W] : 3,000,0009= 3,000,000
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